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x1 y1 x2
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V(v+): 0.0000 12.0000 0.0000
V(v-): 0.0000 -12.0000 0.0000

250

V(V')

y2
2.5017
2.5017
2.5017
12.0000
-12.0000

dx
0.0000
0.0000
0.0000
0.0000
0.0000

dy
0.0000
0.0000
0.0000
0.0000
0.0000

dy/dx

500u
Time (s)

1/dx

750

m



Voltage (V)

300 |

250 1

200 1

150 -

100 -

50 1

Transient Analysis

Design1

Printing Time:Saturday, September 08, 2012, 10:11:59 AM

0
-50
0
V(1 V(3 V(out V(v+
(1 3 (out) (v+)
x1 y1 x2
V(1): 0.0000 2.5017 0.0000
V(3): 0.0000 2.5017 0.0000
V(out): 0.0000 2.5017 0.0000
V(v+): 0.0000 12.0000 0.0000
V(v-): 0.0000 -12.0000 0.0000

25u

V(V')

y2
2.5017
2.5017
2.5017
12.0000
-12.0000

dx
0.0000
0.0000
0.0000
0.0000
0.0000

dy
0.0000
0.0000
0.0000
0.0000
0.0000

dy/dx

5(I)u
Time (s)

1/dx

751

100



Voltage (V)

Design1

Printing Time:Saturday, September 08, 2012, 10:12:01 AM

Transient Analysis

200 |

125

50 1

-25
T T T 1
0.0 2.5u 5.0u 7.5u 10.0u
Time (s)
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): 0.0000 2.5017 0.0000 2.5017 0.0000 0.0000
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